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TR28E 1055 BBREERL
1087 (8) 2BEERE ()
sz | wex | RER AL | kg% | RER
CNGV - CHGVH - CHGTHZE 28 FA LIS DI &
500Lk
LPG 804, 651 1,656 4,909, 044 11, 953
PG 62, 966 155 504, 248 1,098
LG 41,054 0 316, 803 21
AG 2,808 0 22,391 3, 000
LT 2,253 800 17,676 6,979
LNGV 0 0 0 0
L 0 0
(LDH 0 0
£ Dt 117 0 1,491 50
FEREREs | 913.849¢ 2611} | _____ 571,659 23,351y ]
HEIERAE %) 108. 2 84.0
S@Esest o} 916,460 _______________ ¢t ____________87%%010_ _______________
HEERAE %) 108.0
500L 1At 1000L k& i
LPG 0 0 23 1
PG 523 0 4,180 0
LG 532 51 3,013 1,741
LT 0 0 0 0
[(RDIN 0 0
(LDH 0 0
X 36 0 72 0
el o N I 1L | L1 ) I R 1288 Loa8y L
HEERAL %) 99.3 101.2
}Mﬁﬁlﬁi 1602 b 9.0 _________________
HErERA L (%) 0.2
1000LEL £
LPG 990 397 20 6,976 3,019 361
PG 0 0 0 122 39 0
LG 131 6 4 1,380 112 30
LT 57 4 8 559 151 95
DL 2 3
(LDH 1 1
2 Dt 20 10 0 90 47 0
e et .} 1198 471 2y 9121y 39720 486
HEEEAL %) 113.8 106. 2 98.8
‘@S 162 1388
HNEERAE %) 0.3
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1084 (&) BEERE (B)
A | wmeR | meEs A | weR | RESR

CNGVE 2R DR &
GRS e = R I L] 1] of . Loeo8f ________w44f o 0f
HEERAE %) 18.8 3.8 0.0
CNeVERSE |\ 28 .64 _______________
HEERAE %) 0.0

CHGVHE 32 F DR &
aEsaT | 77 | I oo 2am A X 0
HNEFERAE ) 30.9 0.1 0.0
CHaVHER&st | 2 2,482
HWEERA L %) 0.0

CHETHER R A DK E &
ERERaE S | R K1 | op W 20 0f
XETERAE (%) 0.0 0.9 0.0
CHGTHEM&E 1 3
HEERAE %) 0.0
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